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O000 $\text{bfs}$ 00 000DO0OCOO0OOODO

$\text{bfs}s DO DO OO $Om)$JO0 OO0 $O0(mm)$ D00 O OO OO $0(nm”™2)$0

const int MAXN= , MAXM= , InT=0X7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];
int head[MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 000 OO
void Insert(int u,int v,int c
edge/edge cnt/=Edge(v,c,head/u]);
head|u!=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|[v|=edge cnt++;

struct EdmondsKrap
int a/MAXN|,p! MAXN];
int Maxflow(int s,int t
int flow=0;
true
mem(a,0);
gqueue<int>q;
als|=Inf;
g.push(s);
Iqg.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edgel|i].to;
lalv]&&edge/i].cap

plv]=i;
alvi=min(alul,edgelil.cap);
g.push(v);
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lalt

flow;
int i=t;i'!=s;i=edgelp[i]”1].to
edgelpli]].cap-=alt];
edge(pl[i]~1l].cap+=alt];

flow+=alt];

$\text{Dinic}$ OO

O000 $\text{bfs}$ 00 000000000000 $\text{dfs}$]

OO0 $\ext{bfs}$ 00 0000000O0OO0O%ISOOOOOODO $n-1$ 0000 $\text{dfs}$ OO
o000 $O0imm)$000Coog $0(n™2m)$0

OO0O0Dooooopstext{Dinic}y$so0ooocoonodO $0(\min(n™{\frac 23}, m~{\frac 12})m)$[]

O0O0Oooopg$\text{Dinic}y$ 000 DOO0OOOOO $0(\sqrt nm)$[]

struct Dinic
int s,t;
int pos|[MAXN|,vis MAXN|,dis [MAXN|;
bool bfs(int k
queue<int>q;
g.push(s);
vis|s|=k,dis|[s|=0,pos/s|=head(s];
Iq.empty
int u=q.front();q.pop();
int i=head/u];~i;i=edge|i].next
int v=edgeli].to;
vis|v|!=k&&edge (i .cap
vis|v|=k,dis|[v/=dis|ul+1,pos|/vi/=head|Vv];
g.push(v);

false;

int dfs(int u,int max_ flow
==t| | !max_flow
max_flow;
int flow=0,temp flow;
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int &i=posiul;~i;i=edgeli].next
int v=edge([i].to;
dis|ul+l==dis|v]|&&(temp flow=dfs(v,min(max flow,edgel(i|.cap
edgeli].cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

flow;
int Maxflow(int s,int t

this->s=s;this->t=t;
int ans=0,k=0;

mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

$\text{ISAP}$ 0 O

O0D0000 $\text{Dinic}y$ 00000000 $\text{bfs}$ 00 $\text{dis}sp0 OO OOODO

000000 $\text{Dinic}y$ 0O OOOOOO

struct ISAP
int s,t,n;
int pos|[MAXN|,dis MAXN|,p! MAXN|,num MAXN];
bool vis[MAXNI;
void bfs
mem(vis,0);
queue<int>q;
g.push(t);
vis|t|/=true,dis|t|=0;
lq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edgel[i].to;
lvis|v | &&edge[i™1].cap
vis|v|=true,dis|v]|=dis/ul+1;
g.push(v);

mem(num, ) ;
_rep(i,1,n
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pos|il=head|[i],num/dis|i]|++;

int augment
int flow=Inf;
int i=t;il!=s;i=edge([p[i]”~1].to0
flow=min(flow,edge/plil].cap);
int i=t;i!=s;i=edgelp[i]~1].to
edge/pli]|.cap-=flow;
edge/pli|”1l].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;

bfs();
int ans=0,u=s;
bool flag;
dis/sl<n
==t

ans+=augment(),u=s;
flag=false;
int &i=pos|ul;~i;i=edge!i].next
int v=edgeli].to;
dis/ul==dis|v | +1&&edge|i].cap
flag=true,plv/=1i,u=v;

’

Iflag
int d=n-1;
int i=head/u|;~1i;i=edge[1i].next
edge(i].cap
d=min(d,dis/edge/i]|.to]);

--num/dis|u] |==
’
num/dis|ul=d+1]|++;
pos/u/=head/u;
u'=s
u=edge/plul”l].to;

ans;
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

#define

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

_for(i,a,b) for(int i=(a
_rep(i,a,b) for(int i=(a);
#define mem(a,b) memset(a,b,sizeof(a

using namespace std;

typedef long long LL;

inline int read int(){
int t=0;bool sign—false'char c—getchar();

);1

++1)
++1)

<(b);
i<=(b);
))

whlle('lsdlglt
while(isdigit(c

)){sign|=c=="-"';c=getchar();}
) {t=(t<<1)+(t<<3)+(c&15);c=getchar();}
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sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
C::I l | |C::'\n' | |C::'\r" C:getchar 5
c)

inline void write(LL x
register char c , len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-");
x)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN= , MAXM= , INnf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

’

’

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Clear() {mem(head,-1);edge cnt=0;

void Insert(int u,int v,int c
edge|edge cnt|=Edge(v,c,head|u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,c,head|v]);
head|v|=edge cnt++;

struct ISAP
int s,t,n;
int pos|[MAXN|,dis MAXN|,p!MAXN|,num|[MAXN];
bool vis|[MAXN];
void bfs
mem(vis,0);
queue<int>q;
g.push(t);
vis|t|=true,dis/t|=0;
Iq.empty
int u=q.front();q.pop();
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int i=head|u];~i;i=edge|i].next
int v=edgel[i].to;
lvis|v|&&edge ! i™1].cap
vis|v]|=true,dis|[v]|=dis|ul+1;
g.push(v);

mem(num, 0 ) ;
_rep(i,1,n
pos/il=head/i|,num|[dis|i] |++;

int augment
int flow=Inf;
int i=t;il!=s;i=edgelp[i]~1].to0
flow=min(flow,edgelp(i!].cap);
int i=t;il!=s;i=edge|p[i]~1].to0
edge/pli]|.cap-=flow;
edge/pli|”1l].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;
bfs();
int ans=0,u=s;
bool flag;
dis/si<n
u==t
ans+=augment(),u=s;
flag=false;
int &i=pos|ul;~i;i=edgeli].next
int v=edgel|i.to;
dis/ul/==dis|v|/+1&&edgel|i].cap
flag=true,plv/=i,u=v;

’

I'flag
int d=n-1;
int i=head/u!;~1i;i=edge[i].next
edge(i].cap
d=min(d,dis/edge(i|.to]);

--num/dis|u] ==
num/dis|u|=d+1]++;
pos ul=head/u];

ul=s
u=edge/plu

N\

.to;
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.
’

ans;

struct Gomory Hu Tree

ISAP solver;
int n,idx MAXN|,temp[MAXN],color|[MAXN], k;

int Head[MAXN<<1],To[MAXN<<1],W[MAXN<<1], Next [ MAXN<<

int Min cut[MAXN]| [ MAXN];

void insert(int u,int v,int w
Next | ++tree edge|=Head|u];
Tol[tree edgel|=v;W|[tree edgel|=w;
Head|u|=tree edge;

void dfs(int u
colorul=k;
int i=head|u];~i;i=edge|i].next
edge/i].cap&&color|edgeli].to] =k
dfs(edgelil.to);

void build(int 1lef,int rig
lef>=rig

int i=0;i<edge cnt;i+=

edge|i].cap=edge/i|1].cap=edge|[i]|.cap+edgel1i|
int cut=solver.Maxflow(idx|lef|,idx[rig!,n);

,tree edge;

.cap>>1;//0000O

insert(idx|lef],idx|[rig|,cut);insert(idx|[rig|,idx|lef],cut);

++k;dfs(idx | lef]);
int posl=lef-1,pos2=rig+1;
_rep(i,lef,rig
coloriidx[i] |==
temp|++posl|=idx[i];

temp|--pos2|=idx[i];

_rep(i,lef,rig
idx/il=templi];
build(lef,posl);
build(pos2,rig);

void dfs2(int u,int fa,int p,int w
Min cutip!lul=w;
int i=Head|u;i;i=Next|i
int v=To[i];
==fa

’

dfs2(v,u,p,min(w,W i ;
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void build(int n

this->n=n;
_rep(i,1,n
idx[il=1i;
build(1,n);
rep(i,1,n

dfs2(i,i,i,Inf);

GHT;
int main
Clear!();
int n=read int(),m=read int
m_-
int u=read int(),v=read int
Insert(u,v,c);
GHT.build(n);
int g=read int();
q__
int u=read int(),v=read int
enter(GHT.Min cutiullv
HREEN

$\text{EdmondsKarp}$ 00 O

gobooobboobobooobbuooobbuooobbooono

O0000000 $0(nmf)$d

struct Edge
int to,cap,w,next;

Edge(int to=0,int cap=0,int w=

this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge MAXM<<1];
int head[MAXN|,edge cnt;

void Clear(){mem(head,-1);edge cnt=0; }//[1 100 ][] []
void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head u

head|u|=edge cnt++;

edge|edge cnt|=Edge(u,0,-w,head|v

,C=read_int

,int next=

.
’

’

.
’
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head|v|/=edge cnt++;

struct EdmondsKrap
int alMAXN],dis[MAXN|,p/MAXN];
bool inque|[MAXN];
void MCMF(int s,int t,int &flow,LL &cost
flow=0,cost=0;
true
mem(a,O);mem(dis, /3);
gqueue<int> q;
als|=Inf,dis|[s|=0,inquels | =true;
g.push(s);
Iq.empty
int u=q.front();q.pop();
inquelu/=false;
int i=head|u];~i;i=edge[i].next
int v=edgel|i].to;
edge/i].cap&&dis/u/+edge/i] .w<dis|v
plvi=i;
dis|v/=dis|ul+edgeli] .w;
alv|/=min(alul,edgeli].cap);

linquelv
inque| v/ =true;
g.push(v);

lalt

int i=t;i'!=s;i=edge([p[i]~1].to
edge/plil!.cap-=alt];
edge(pl[i]~1l].cap+=alt];

flow+=alt];
cost+=1LL*alt]|*dis[t];

$\text{Dinic}$ OO

0000 $\text{Dinic}$s 000000000 DO0OO0O0OOOOOODDOO $\text{dfs}$ 00000
gobooobooobobooon

0000000 $\text{EdmondsKarp}$ OO O

struct Dinic
int s, t;
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int pos/MAXN|,dis MAXN;
bool inque MAXN];
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inque|/s|=true,dis|s/=0,pos/s/=head|s|;
Iq.empty
int u=qg.front();q.pop();
inquelu =false;
int i=head|u];~1i;i=edge[i].next
int v=edgeli].to;
dis/ul/+edgei|.w<dis| v &&edgel|i].cap
dis/v/=dis|ul+edgeli].w,pos|/vi/=head|[v];
linque|v
g.push(v);
inque/ v/ =true;

dis[t]!=dis ;

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
inque/ul=true;
int &i=posiul;~i;i=edgeli].next
int v=edgel[i].to;
linque /v |&&dis/u+edgei|.w==dis|v|&&(temp flow=dfs(v,min(max_ flow,edgeli
.cap
edge|i].cap-=temp flow;
edge[i~1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
Imax_flow

?

inquelu|=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
spfa
temp flow=dfs(s,Inf);
flow+=temp flow;
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cost+=1LL*temp flow*dis|[t];
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

_for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar
lisdigit(c sign|=c=='-"';c=getchar
isdigit(c)){t=(t<<1l)+(t<<3)+c-48;c=getchar

sign?-t:t;

inline LL read LL

LL t=0;bool sign=false;char c=getchar
lisdigit(c)){sign|=c=='-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+c-48;c=getchar

sign?-t:t;

inline char get char
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char c=getchar();
C::I ! | |C::'\r|I | |C::'\|“I C:getchar ;
OF

inline void write(LL X
register char c , Llen=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
X)cl++len]=x%10,x/=10;
len)putchar(c/len-- ]+ ;

inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN= ,MAXM=2e5+5, Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

’

’

edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }/0 00000
void Insert(int u,int v,int c¢
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct ISAP
int s,t,n;
int pos/MAXN|,dis MAXN|,p ! MAXN|,num|[MAXN;
bool vis[MAXN];
void bfs
mem(vis,0);
queue<int>q;
g.push(t);
vis|t|=true,dis|[t]/=0;
Iq.empty
int u=q.front();q.pop();
int i=head(u];~i;i=edge[i].next
int v=edgel[i].to;
lvis|v &&edge ! i™1].cap
vis|v]|=true,dis|[v]=dis|ul+1;
g.push(v);

mem(num,0) ;
_rep(i,1,n
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pos|il=head|[i],num|dis|i]|++;

int augment
int flow=Inf;

int i=t;il!=s;i=edge(p[i]”1].to0

flow=min(flow,edgelpli!|.cap);

int i=t;il!=s;i=edge[p[i]~1].to0

edge/pli]|.cap-=flow;
edge/pli|~1l].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;
bfs();
int ans=0,u=s;
bool flag;

dis|/sl<n
u==t
ans+=augment(),u=s;
flag=false;

int &i=pos|ul;~i;i=edge/i].next

int v=edgel[i].to;

dis|ul==dis|v]|+1&&edge i

flag=true,plvi/=1i,u=v;

’

I'flag
int d=n-1;

int i=head/u!;~1i;i=edge[1i].next

edge(i].cap

d=min(d,dis/edge/i].to

--num/dis|u] ==
’
num/dis|ul=d+1]|++;
pos ul=head/u/;
ul=s
u=edge/plu

N

.to;
ans;

int id1[MAXN|,id2[MAXN|,w MAXN];

void Insert2(int u,int v,int lef,int rig
edge|edge cnt|=Edge(v,rig-lef,head|u
head|u!=edge cnt++;wlul-=lef;
edge/ edge cnt =Edge(u,0,head/v]);

.
’
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head|v|/=edge cnt++;w|v]/+=lef;

ISAP solver;
int main

int kase=0,n,m,s 0=1,s=2,t 0=3,t=4;

~scanf ("%d%d" ,&n, &m
kase++)puts("");
Clear();mem(w,0);

int pos id=4;
_rep(i,1,n
id1l[i|=++pos id;
_for(i,0,m

id2[i|=++pos_id;

Insert2(id2/i|,t,read int

_rep(i,1,n

int c=read int(),d=read int

Insert2(s,idl[il,0,d);
_for(j,0,c

t=read int(),l=read int
Insert2(idl(i],id2[t]|,l,r);

Insert(t,s,Inf);

int sum=0;
_rep(i,1,pos id
wlil>
Insert(s 0,i,w[i
sum+=w(il;
wlil<

Insert(i,t 0,-wlil);

solver.Maxflow(s 0,t 0,pos id)<sum

pUtS ||_1|| :

enter(solver.Maxflow(s,t,pos id

oo

oooooo

goodd

,r=read int
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gobogobbodobobooobbooobobooobbooobboooobooa

oo oooon
gdodouooooooo

00000000000 $0(mspgudonoog $0(nm)s

struct KM
int match[MAXN],vis [ MAXN];
bool dfs(int u,int k
visiul==
false;
visiul=k;
int i=head|u;1i;i=edge!i].next
int v=edgel[i].to;
Imatch(v!||dfs(match[v],6k
match/v|=u,true;

false;

int get pair(int n
mem(match,0);mem(vis,0);
int ans=0;

_rep(i,1,n
ans+=dfs(i,i);
ans;

ERERERN

00000000 $\text{X}$0$\text{Y}$[

D0000000000000 $text{X}$ 0000000 $1$00000%\text{Y}$ 0O OO ODODO
000 $1$00000

000 $\text{X}$ 00 $\text{Y}$ 00O 00000000 $$00000000 $\text{Dinic}$ OO
oooooog

00000 $0(\sqrt nm)$[]

HEN

l. 00000000000 O0ODOOoOoOOooOoOooDO
2. 000000000DO0O0bOO0bOoOobDOobDO

guooooobbon
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$\text{KM}$ 0 O

$\text{dfs}$s OO

gooogooo

e D00ODO00OO0ODOODOOODO $I()$00 0O $ulin \text{X} Win \text{Y},I(u)+I(v)\ge w(u,v)$[]
e 00000000000 $ulin \text{X},Win \text{Y},l(u)+l(v)=w(u,v)$ 00000000

goboooboboodbbuooobboobobuooobobooo
gbobooobbodobobooobbooobboobobooobbooonoo
0o0b0ooobobooobboooobooo

000 $\text{Ix}(N$ OO OO OO0$\text{ly}()s OO O OODOO

OO0000 $text{Ix}(D$s OO DO $is 000 D0ODOO0SMext{ly}i)$ O so$sC 00O OO
$\text{Ix}(u)+\text{ly}(v)\ge w(u,v)$[]

gobooobooobboon

000000 $u$f0 0 stext{dfs}$s 000000000000 DO0OOO0OOOOOOODOOOOOO
googd

000 $\ext{dfs}$ 0000000000000 $S$00 O D000 $T$NO $\overline S=X-S,\overline
T=Y-T$[]

00000000000000000000000000000000000 $a$0d $S$00000
000 $a$0$T$ 00000000 $as]

0000000000 $S$0 $T$ O $\overline S$ O $\overlineT$ OO OO OO

000000 $\overlineS$ 0 $T$ OO $\text{Ix}(u)+\text{ly}v)$ OO OO OOOOODO
$\text{Ix}(u)+\text{ly}(v)\ge w(u,v)$[]

000000 $S$0 $overlineT$ODODOOOO0O $S$4000000000O00O0O0O0ODO0OO

0000 %$ 000000 sas 00000 $\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))|ulin S,v\in
\overline T\}$[]

000000 $ulin\text{X} wv\in \text{Y},l(u)+I(v\gew(u,v)$JO0O 0O O OO0 OOCOOOO
0000 $alt\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))Julin S,W\in \overline \}$00 OO0 00O OO
00000 $a=\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))]ulin S,v\in \overline T\}$[]

000000000000 000000000000D00DO0000O0 $S$000000DO00DO0O0ODO
0000 $0(n)$s0 000

00 $\text{dfs}$ DO 0000000000 $0(n"2)$00 000 $a$ 00000 $0(n"~2)$0

000000000000 $0(n*3)$00 00000 $0(n™4)$0
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Oo0000oo0o0 $lack(v)=\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))|\in S\}$00 000 $a$ 00 O

000000 $0(n)$[]

00 $\text{dfs}$ 000000000 $0(n™2)$0000000O0O0OOOODO0O $0(n™3)$0

struct KM

int n,w/MAXN]| MAXN/|, Ix MAXN|, Ly [MAXN|,lack[MAXN|;//C0 0000000000 w0 -

Inf

int match/MAXN|,visx MAXN|,visy MAXN];

bool dfs(int u,int k
visx|ul=k;
_replv,1,n
visy|v|==
int t=Wx[ul+lylv]-wlullv];
It
visy/v|=k;

'match(v|||dfs(matchlv],k

match|v]=u, true;

lack|/v]=min(lack|[v],t);
false;
int get pair(int n

this->n=n;int k=0;
mem(ly,0);mem(match,0);mem(visx,

_rep(i,1,n
Ix[il=-Inf;
_rep(j,1,n

Ix[il=max(lx[i],wiil[]j]);

_rep(i,1,n
_rep jr N
lack|j|=Inf;
true
dfs(i,++k
int a=Inf;
_rep(j,1,n
visy[jl!=k
a=min(a,lack(j!);

_rep jr N
visx|j|==
x[jl-=a;
visyljl==
lyljl+=a;

;mem(visy,

14
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lack!j|-=a;
int ans=0;
_rep(i,1,n
ans+=w/match|[i i];
ans;

$\text{bfs}$ OO

000000000000 $text{dfs}s 0000000000

000000000 $\text{dfs}$ 00 $\text{bfs}$Q0 000 DODOOO0O $0(n"3)$0

struct KM

int n,w/MAXN| MAXN/|, Ix MAXN|,ly[MAXN|,lack[MAXN|,p MAXN|;/0000 000000

Owd O -Inf

int 1inkx[MAXN!,linky MAXN!,visx|[MAXN|,visy [MAXN];

void augment(int pos
int temp;
pos
temp=linkx | p[pos]||;
linkx|[p[pos| | =pos;
linky pos|=p[pos];
pos=temp;

void bfs(int s,int k

queue<int>q;
_rep(i,1l,n
lack[i]=Inf;
g.push(s);
true
Iqg.empty
int u=q.front();q.pop
visx|ul=k;
_rep(v,1,n
visy|v|==

.
’

IWx[ul+lylv]-wlu
lack/vi=lx{ul+ly[v]-wlu
Ilack|v
visy/v|=k;
I'linky|[v
augment(v);

q.push(linky|v

vi<lack|v

;plvi=u;
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int a=Inf;

_rep(i,1,n visyl/i|!=k

a=min(a,lack[i]);

_rep(i,1,n

visx|[il==k)lx[1i]-=a;
visy|[il==k)ly[i|+=a;
lack[i]-=a;

_rep(i,1,n
visy[i]!=k&&!lack|i
visy|[i|=k;
Ilinky |1
augment (1) ;

g.push(linky[i]);

int get pair(int n
this->n=n;int k=0;
mem(ly,0);mem(linkx,®);mem(linky,0);mem(visx,0);mem(visy,0);

_rep(i,1l,n
Ix[il=-Inf;
_rep(j,1,n

Ix[il=max(lx[i!,wiil[]j]);

_rep(i,1,n

bfs(i,i);

int ans=0;

_rep(i,1,n

ans+=w|linky i/ ][1i];
ans;
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